_____________________________ K E DI <orea Economic Daily Index

KEDI HO|2 TOP10 EIHHZ|X|(x2) XIF(B+Y) L&Y
(Methodology Book)

Sep 2024

KEDI 0|2 TOP10 2[#2|2|(x2) AI&(E+2)) YEE Sep 2024 | Page 1



K E DI orea Economic Daily Index

A. & ZAME KEDI HIO|2 TOP10 BIH2|X|(x2) X|3=(FZ+U)(KEDI Bio TOP10 Leverage(x2)
=

Index(TR))S 4tEot 22[sts Yy EO Ciet OIS 571 *lotd A= ASLICH

KEDI HIO|2 TOP10 X|$=(E=%
tEst 22| x| X|=QiL|Ct,

r

B. KEDI HFO|2 TOP10 HHE|X|(x2) X|=(E+U)e 7|=X|F¢
_I'E_ = H S

oo Yzt £AES F HiZ WS

C. KEDI HO|2 TOP10 HHE|X|(x2) X|=E+A) e T XI5 (Total Return) LI Ct

T 7| =AM 7| =X s MEAZE

gl 2| x| X[== 2019.01.02 1,000pt 2024.08.20 8:30AM (KST)

2. X|+= 78 84

A 7| EX|$

2 HHE[X| X|=E LHESH7| /s KEDI HIO|R TOP10 X|=(EF+=AE 7|=X+E &8
L ct.

3. X|&= &E U

A X5 #tel iE
T

KEDI HFO|2 TOP10 gHZ[X|(x2) X|F=(E+U)= CIE =4S 0|83t tt=s X|=YL|Ct
Xz &E 7|FL2 20194 018 022€0|H, 7|EX|+= 1,00022 HHSIASLICH

Lev(t = 0) = 1000

—(K—-1)* L*D(t,t—1)}]

_ _ % UnderlyingIndex ;) _
Lev(t) = Lev(t — D[1+{K ( 1) s

UnderlyingIndex_q)

t: E8 AE t

Lev(t = 0): AB2|X] X|5= Leve| 7|F gt (1000)

Lev(t): t A" 22X |59 thE gt

Lev(t —1): =1 AIE 2[R X|=9| M= gt

K: 2 (7IEX|5= Hzlof] A5t HiE)
UnderlyingIndex: K|=tbE A”Q| 7| XX =
UnderlyingIndex,_,:  HTH2HYt-1) 7| X2 F7t 7|1& ME &
r FalCp91g =zl

KEDI H}O|2 TOP10 2f|H{2|2|(x2) A|(&42l) W

rhu

Sep 2024 | Page 2



K E DI orea Economic Daily Index

D p-1y:

o

Bl

2 K| 7|Z=X|5=Ql KEDI HO|2 TOP10 X[=(Ex2)e| F7|

RO
£y

<+

o2 7| O
KEDI X|==

2K

=

=

E

Val
(=]

12|

2

|

=

o

[e]
F

| StAlet MHDX|>

ol

<t

OH

<

E
e

b

e
o
[

2 ot M 3 xte| BXr 4Z0 o

|AS BYHOSIX| Han, X[ O[&XAtet X 3 Xtz MH[AE O§7450]

°

Sep 2024 | Page 3

i

KEDI H}O|2 TOP10 2f|H{2|2|(x2) A|(&42l) W



